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QUESTION 1
An NSX Edge Service Gateway has two interfaces:
Internal interface named Internal Access -- IP address = 10.10.10.1 -- Network mask = 255.255.255.0

Uplink interface named Physical Uplink -- IP address = 20.20.20.1 -- Network mask = 255.255.255.0 A vSphere
administrator wants to add a SNAT rule to allow traffic from the internal network segment to

access external resources via the uplink interface.

Which three steps should the vSphere administrator do to add the SNAT rule? (Choose three.)
A. Apply the SNAT rule to the Internal Access interface.

B. Select 10.10.10.1 as the translated source IP.

C. Apply the SNAT rule on the Physical Uplink interface.

D. Select 10.10.10.0/24 as the original subnet.

E. Choose 20.20.20.2 as the translated source IP address.

Correct Answer: CDE

QUESTION 2

How many Logical Interfaces can be assigned to a single Distributed Router instance?
Al

B. 12

C. 1000

D. 1200

Correct Answer: C

QUESTION 3

A company wants to deploy VMware NSX for vSphere with no PIM and no IGMP configured in the underlying physical
network. This company also must ensure that non-ESXi hosts do not receive broadcast, unknown unicast or multicast
(BUM) traffic.

Which replication mode should the logical switches be deployed with?

A. Unicast Replication Mode

B. Multicast Replication Mode
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C. Hybrid Replication Mode
D. Transport Zone Mode

Correct Answer: A

QUESTION 4

Which two options are use cases of Layer 2 bridging in NSX for vSphere? (Choose two.)

A. Extend the network security to physical devices in the physical network by use of the Distributed Firewall.
B. Extend physical services to Virtual Machines in virtual network.

C. Allow clustering of multiple NSX Managers in a single vCenter Server instance.

D. Allow physical devices in the physical network to use the NSX Edge Gateway as a default router.

Correct Answer: BD

QUESTION 5

What is the function of NSX Data Security?

A. Prevents sensitive data in your virtualized environment from being copied

B. Prevents sensitive data in your virtualized environment from being modified

C. Identifies sensitive data in your virtualized environment based upon regulation security policies
D. Identifies sensitive data in your virtualized environment based upon regulation violation reports

Correct Answer: D

2V0-641 Study Guide 2V0-641 Exam Questions 2V0-641 Braindumps

2V0-641 Study Guide | 2V0-641 Exam Questions | 2V0-641 Braindumps 3/3


https://www.pass4itsure.com/2v0-641.html
https://www.pass4itsure.com/2v0-641.html
https://www.pass4itsure.com/2v0-641.html
http://www.tcpdf.org
https://www.pass4itsure.com/2v0-641.html
https://www.pass4itsure.com/2v0-641.html
https://www.pass4itsure.com/2v0-641.html

